Lesson 3—Practice Exercises

_ PRACTICE EXERCISES

The graph of y= (-—x 3) 1sthe graphof y (x 3) reﬂectedmthe 3 (.UQS -

Given y=x?-x-3, write the equatlon representing the graph of th.ls functlon reﬂected in
- the y-axis. 1 eplaca, % \dith -X

Y= Qx} (x)—g

o 3 ‘Thegmphofy——(x+2) 1sthegraphofy (x+2) reﬂectedmthe X GX .' x |

Y= ><—t><‘3

4, Given y=x"-5x-3, write the equatmn reprcsentmg the graph of this functlon reﬂected in the
~ x-axis. .Solve this equation for, ¥ e P lace }_,) ith = 3

3 x* 5”}4 % e 3"—@ 6’»4—?;>——-> g——x +5"><+?>
5. The graphof the exponential ﬁmctlon y =27 is shown below. L LT
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‘Write the equation representmg the graph of the funct:lon y =x* -8 reflected in the y-axis. -
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) .:_. The graph of y =-(x’ +5) is the graph of y=x +5 reﬂectedmthe )( C\)(lS . ’

8.  Write the equatmn representmg the graph of the functmn y= \12x+ 5 reﬂected n the X-axis.

replace y- \m’r]w v 3 VT —— gl

9 For y =x*, write the equation representmg the: graph of this function reﬂected in the y-axis. If both
. of these equations are graphed, describe the resuit (:- ,Q Ve?\ace W Wi th ~¥
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10. Given y =x°, explain why y = ~x* canbe cons:dered a reﬂectlon in the x-axls or thc y-axis.

~ Both veflections cesult in the same graph . %C’*)‘ ”F G‘)

‘ 11" Given f(x)___3x.__7’fiﬁd. f—‘(_x). . Sﬁ %)(m-:f_ o . e ,F.,iéljfn X:“%E
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| xT =5y > —ﬁ%i: Y
12. 'The graph of (x-2+(y + 3)* =36 is a circle with centre (2, -3) and radius 6. Ifthe graph of this
circle is reflected in the line y =x, what is the equation of the new circle that is produced? What is _ &
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the centre gftlus new circle? swﬁ‘c\n v, _cm&\/ (3 2)2+ C".:"'*“??) ) _--35 -
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13. If the graph of y=f (x) contains the pomt (3, -5), then the graph of y = f(—x) will contam the

point | | %15 \re,g\o\cec\ with =%
Ao (5,3) v e S o e B (53,58)0
© - D. (3,5)

"14. Ifthe graph of y= f(x) contains the point (——2 —3), then the graph of y = — f(x) will contain the
point - - _ . Y \% (&F\a(’,{c\ vaith ’j
A, (3,-2) - : B. (2,3)
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15. Given f (x)— -x +9 the x-intercept for y=— f (x) is, to the nearest hundredth, X- =it pecurs an ' .
2.08 ATTT X-Infercept Aoes net c;‘nange. becouse Sm\v\n s re%lecﬁc\ n ‘H‘l{ x—amr
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16 leen f (x) ’3 29 the y—mtercept for y=77"(x) is-
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